Abstracted Microarchitecture: Example Core i7 Haswell (2013) and Sandybridge (2011)

Throughput (tp) is measured in doubles/cycle. For example: 4 (2). Numbers are for loading into registers.
Latency (lat) is measured in cycles
1 double floating point (FP) = 8 bytes
fma = fused multiply-add Haswell Sandy Bridge
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1 Core (up to 192 (168) “in flight”) CB = cache block
Core i7-4770 Haswell: ring interconnect processor die
4 cores, 8 threads Core#1,11,12 < > 13
3.4 GHz
(3.9 GHz max turbo freq) Core#2,11,12 <« > L3
2 DDR3 channels 1600 MHz — RAM
Core #3,L1,12 <« > 13
Core#4,11,12 <« > L3
core uncore

Source: Intel manual (chapter 2), http://www.7-cpu.com/cpu/Haswell.html
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http://www.intel.com/content/dam/doc/manual/64-ia-32-architectures-optimization-manual.pdf

